FR29FE TREE(BEHNUT=AHR) (F)

NO. e LA E A Ted 120 B RA S
; TR 295 FE 4/8.15.22.29.5/13.20(1)[5/27.6/31 | ERHE |LBALIBIZ TS
T=ARI—IL AM9:30~AM11:30 AE  |Smn#¥:3,000M/4
mFBHREAS 4/15.22.23.29.5/7.13 EAS
2 |aimE 4@7 mETRE i
_ PM1:30~5:30
ZE12[H 4/2(H) R YSTHPE ()T BRERBN—F 4>
3 |BEEVTHE [4/9] b 3FTILA(6GHEHER)
_ AM9: 00~ PM6:00 10E |53 7,000M/F—L
Z16[l 4/16(H) =g |1 72T BRURBE ;D
4 |EBEHMUTF=ABEEHF [4/23] =TS 16GSEEY
BEISYIRSTILAKE AM9 : 00~ PM6:00 1 2@ %7][]*5'- : 3,000H/ﬂ
5650 5/14(H) FLla—k —_
o |msmmnExS g |(EEEET=ZHS
E14[E 5/10(7K) RS
6 |FRAL—T7EFHE [5/12(%&)] P () BHLT=X1BE
_ AM9: 00~ PM6:00
E35[| 5/21(H) =i —EBBEX HEBR.VZTBF
7 [fEALEFE [5/28] —wﬁ 8G1S-12PTB
(VYT INR) AM9 : 00~ PM6:00 S hn4t:2,000M/4-2EH
23500 6/4(H) =gt — BB HEBLR . V=T7BF
8 *Efuﬂﬁ%\%#&(ﬁjibx) [6/11]=Ff1A 75—k~ (10@) _16ﬁ? 8G1S-12PTB
*® HE%W’PE AM9 : 00 ~PM86:00 B ¥ :3,000M /4 -2 H
$34[m| 6/18(H) =g 277 HAB (G -U—T8)
o |mFBBHELF [6/25] 12 = 2o TR, 38T LA (6GEER)
75ﬁ_ﬂ?ﬁ¥ﬁ AM9 : 00 ~PM6:00 B s 10000M/F—L
ERE]] R 7/2(8) ERS —ik B % 6G1S-12PTB
10 |FAB(S 2T ILR) [7/9] 5E S0 J L R2,000M/%
_(’5«7)»70 AM9 : 00~ PM6:00 TR 3,000 /4
1 [BEBRHLTER 17/20.30(£ B) =RE lsmu ke
S 39[] 8/20(H) =g [REL HERL V=TETF
12 71'—7"/‘7‘-:7\&—1- [8/27] —wﬁ 8G1S-12PTB
}ybiélj')bx) AM9 : 00~ PM86:00 S 0% :3,000M/41-£5EH
13 (T THBEEIVIRS | [9/10] _16ﬁ 6G5EEN
7 )wijc% AM9 : 00~PM#6:00 & in%¥t:3,000M /48
£32[E 9/17.24.(8) =i —EBRX HEBR.V=TBF
14 |F—FoF7=Zb—% |[10/1.8]%88 : 1A HFa—+10E —wﬁ 8G1S-12PTB
Ak ﬁ’//]’)bx) AM9 : 00 ~PM6:00 S hn4t:2,000M/4-2EH
120 10/15(H) = s — aj—n
15 [BERICLSD [10/729]—faA i 10mE _15’%7& ﬁﬁ;"gﬁgg‘/g e
F—LJ x5 AM9 : 00 ~ PM6:00 m S0,
R RRkEiLas | 9/30.10/7.14(L) EHE sk
o PM1 ;00 ~PM5:00 o | ERERT
HR&HE FEBER - -
17 7= ABH 10/21.22(£. H) spaE |(EE)mBHET ==
$36[m REBILER 11/5.12.19.26.12/3(H) ks by = —
18 |52 2 25 Aok [12/10] (X)) ERT=-RAH=
E10E RALERN SRt |- BER - HEBF
19 [f—FvF=zx% Tﬁé‘-ﬁﬁﬁf&m thaEtE [sG1s-12PTB
(YVTILR) - - AT |8n%t:2,000M/£4
g9 B\AMLUERN H30/1/28(H) =Bt [-REX-TFEF
20 [A—TUT=ARR | e e~ PM9:00 AEHE |8G1S-12PTB
(#TILR) - ' AE__|&h0%t:2,000/M /48
91 o H30/3/11(H) [3/18] =Bt |[A—ToB#E BFDLFDIY

T=RAT—YavhvT

AM9:00~PM6:00

16

HAD ¥ :6,0000/F—L




